HONORS LESSON 25 - HONORS LESSON 27

2.
. Statements | Reasons
TU= E Given
ZTUV = ZRQV Given
U_V = a\_/ Given
ATUV =ARQV SAS
TV=RV | CPCTRC
ST = SR Given
SV =SV Re flexive
ATSV =ARSV SSS
ZTSV = Z/RSV | CPCTRC
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3.
Statements [ Reasons
FE = GH Given
FH = GE Given

ﬁ = E_H Reflexive
AFEH =AGHE SSS
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1.

1.

St_a_temﬂts Reasons
AB = AC Given
ZARB = ZAQC | Perpendicular
ZBAR = ZCAQ Reflexive
BAR = CAQ AAS
CQ =BR CPCTRC
Sta_temﬂts Reasons
XB = YB Definition of bisector
ZXBA = ~YBA | Definiton of Perpendicular
BA = BA Reflexive
X% = _YBA SAS
XA = YA CPCTRC
Stgﬁeme_nts Reasons
EF = GF From proof above
E_)EE G_X Definition of Bisector
FX = FX Reflexive
EFX = GFX SSS
ZEXH = «GXH | Definition of Perpendicular
HX = HX Reflexive
EHX = GHX SAS
EH = GH CPCTRC
Honors Lesson 27
Sm_temﬂts Reasons
XC=YC Radius of a circle
A tangent of a circle
ZPYC = /PXC | is perpendicular to the
radius at that point.
PC =PC Reflexive
APYC =APXC HL
PX = PY CPCTRC
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2.

Stiteme_nts Reasons
%J_ A_B Given
A_C =BC Radius of a circle
FC=FC Reflexive

FCA = FCB HL

ZACE = #/BCE CPCTRC
AE = BE Property of
central angle
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3.
Statements Reasons

OP = LM Given

0oC=LC Radius of a circle

PC = MC Radius of a circle
ACPO =ACML SsS

OX =LY Definition of Bisector
AOCX =zALCY HL

XC = YC CPCTRC
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Honors Lesson 28
1
1. 67 =X
67=5
134° =X
1
L
50
100°=Y
]
180—(50+67)—?Z

126°=2

2. B=180-77=103°
A=180-84=96°
C=2x77 = 154°

3. mQR=2(63°) =126°
mZQCR = mQR = 126°

40°+30° _ 70°

=35°

4. muAEC =
2 2
m«BED = 35°
5. muKpL=116°-36° _ 80° _ 4n0
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1.

angle | tan
10° | .18
15° |.268
30° | .58
45° 1
60° |1.73
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